
qm= ;+= ljj/)f /sd1 g]kfn ;/sf/af^ k|fKt eO{ cfPsf] ;`rfng cg'bfg 241,810.00s= sfof{no ;~rfng 50,000.00v= sd{rf/L k|f]T;fxg 30,000.00u= %kfO{ 13,000.00#= ;`rf/ 5,000.00~= lj!fkg 3,000.00r= cf=;=r=k'= 50,000.00%= ;jf/L ;fwg dd{t 30,000.00h= OGwg vl/b 60,000.00em= sd{rf/L Ifdtf ljsf; sfo{qmd 60,000.00`f= b}lgs e|d)f eQf 210,000.00^= ljljw 20,000.00&= a}&s eQf 252,000.00783,000.002= g]kfn ;/sfaf^ k|fKt k'hLut cg'bfg 6,367,464.002=s nlIft ;d'x 2,437,736.00dlxnf nlIft sfo{qmd 609,434.001= hfNkfb]jL cfdf ;d'xsf] ahf/ Joj:yfkg tyf ;fj{hflgs ;f}rfno lgdf)f 100,000.002= hfNkf b]jLyfg #]/faf/f 100,000.003= rf}tf/] *f¤*fufp¤kf=kf= of]hgf 250,000.004= tNnf] #n]ufp¤ j:tL vf=kf= of]hgf 100,000.005= k}/] j:tL vf=kf= o]hgf 59,435.00blnt, hghftL, h]i& gful/s ckf~\u 914,151.001= ;f¤fbL j:tL vf=kf= of]hgf -blnt nlIft_ 100,000.002= a'l~\n~ kfvf ufp¤ vf=kf= of]hgf -blnt nlIft_ 128,538.003= ;[vnf pHHjn Sna ejg lgdf{)f -hghftL nlIft_ 238,060.004= h]i& gful/s ;Ddfg sfo{qmd 80,000.005= cu|fv]-k}/]-:jf:Yo rf}sL-vfN*] ;*s dd{t -h]i& gful/s nlIft_ 158,060.006= ckf~\u d}qL sfo{qmd 238,060.00s[lif nlIft sfo{qmd 914,151.007= ;]/f^f/L d'*'n]rf}/-;f¤bL ;Dd l;+rfO{ s'nf] lgdf{)f of]hgf -s[lif nlIft_ 164,151.00#'/r]Daf *f¤*fb]vL &s'/L j:tL x'b} ;'jf; yfkfsf] #/%]p /f]*;Dd #f]/]^f]af^f] lgdf{)f -s[lif nlIft_ 100,000.008= vfN*] j:tL vf=kf= of]hgf -s[lif nlIft_ 250,000.00
9= of¤uL uf}l/j/ b]vL l;slbd^f]n hf]*\g] s[lif ;*s lgdf{)f 100,000.00

;fNkfl;ln%f] ufp¤kflnsf 1 g+= j*f sfof{nocf=a= 2074÷075 sf] of]hgf af¤*kmf¤*
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10= /f]sfxf ufp¤ jf#ynf vf=kf= of]hgf 200,000.002=v ef}lts k"jf{wf/ tkm{ 2,193,965.001= %lAa; k'nb]vL ;xsf/L, cu|fv], #'dfpg] rf}tf/f gof¤jj:tL, :s'n*f¤*f;Dd af^f] dd{t 450,000.002= cu|fv]b]vL k|/]j:tL, :jf:Yo rf}sL vfN*] af^f] dd{t 200,000.003= s'lj)*] kfvf, sfDn]^f/-d+unaf/] ahf/ 6«ofs cf]kg 499,000.004= cu|fv] ;f¤bfL df]^/af^f] 6«ofs cf]kg 100,000.005 vfN*]-d'*'n] rf}/-s's'jf j];L 6«ofs cf]kg 300,000.006= ^f/L, sf]s/f*f a[;L x'b} ss'jf j];L df]^/af^f] vf]Ng] 295,965.00
7= a'DnL~ kfvfufp¤ sfDn]^f/ x'b} :s'n*f¤*f df]^/af^f] vf]Ng] 499,000.002,343,965.002=u k|j{wgfTds tkm{ 1,462,643.001 rf}sL*f¤*f s'n'~ vf=kf= of]hgf 400,000.002= ;/:jlt lg=df=lj= 300,000.003= v]ns'b ljsf; sfo{qmd 100,000.004= dd{t tyf OGwg vl/b 280,000.005= sfof{no Joj:yfkg 200,000.006= ;*s ;e]{ 250,000.007= k")f{ ;/;kmfO{ 162,000.008= of]hgf cled'lvs/)f tflnd 150,000.001,842,000.00
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